

ADMIRALTY MANAGEMENT PAPERWORK
 18 FEBRUARY 2007
 COMPUTER ENGINEERING

Differentiating the Solution

$$y = \sqrt{\cos x + 3} - \frac{1}{2} \ln \left[\frac{\cos x + 3}{\cos x + 1} \right]$$

$$[\cos x + 3]^{1/2}$$

$$\frac{dy}{dx} = \frac{1}{2} \cdot \frac{-\sin x}{\sqrt{\cos x + 3}} - \frac{1}{2} \cdot \frac{1}{\cos x + 1} \cdot (-\sin x) - \frac{1}{2} \cdot \frac{-\sin x}{\cos x + 1}$$

$$= \frac{-\sin x}{2\sqrt{\cos x + 3}} + \frac{\sin x}{2(\cos x + 1)}$$

$$= \frac{-\sin x}{2\sqrt{\cos x + 3}} + \frac{\sin x}{2(\cos x + 1)}$$

$$\frac{dy}{dx} = \frac{-\sin x}{2\sqrt{\cos x + 3}} + \frac{\sin x}{2(\cos x + 1)}$$

$$\frac{dy}{dx} = \frac{-\sin x}{2\sqrt{\cos x + 3}} + \frac{\sin x}{2(\cos x + 1)}$$

$$\frac{dy}{dx} = \frac{-\sin x}{2\sqrt{\cos x + 3}} + \frac{\sin x}{2(\cos x + 1)}$$

$$2) y = 3e^{\sin x} \cos x$$

$$\ln y = \ln(3e^{\sin x}) + \ln(\cos x) = \ln 3 + \sin x + \ln(\cos x)$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{3e^{\sin x}} \cdot \frac{d}{dx}(3e^{\sin x}) + \frac{1}{\cos x} \cdot \frac{d}{dx}(\cos x) = \frac{1}{e^{\sin x}} \cdot \frac{3e^{\sin x}}{2}$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = 1 + \frac{2 \cos x}{\sin x} = \frac{5}{2} \times \frac{3 \cos x}{\sin x}$$

$$\frac{dy}{dx} = y \left[1 + \frac{2 \cos x}{\sin x} - \frac{\sin x}{2} \right]$$

$$\frac{dy}{dx} = y \left[1 + \frac{2 \cos x}{\sin x} - \frac{\sin x}{2} \right]$$

$$\frac{dy}{dx} = 3e^{\sin x} \cos x \left[1 + \frac{2 \cos x}{\sin x} - \frac{\sin x}{2} \right]$$

Integrando la función usando sustitución de variables

D) $\int \sec^2(x) dx$

$\int \sec^2(x) dx$

$u = \tan x$

$\frac{du}{dx} = 1$

$dx = du$

$\int \sec^2(x) dx = \int \frac{1}{1-u^2} du$

$\int \frac{1}{1-u^2} du = \frac{1}{2} \ln \left| \frac{1+u}{1-u} \right| + C$

$\int \sec^2(x) dx = \frac{1}{2} \ln \left| \frac{1+\tan x}{1-\tan x} \right| + C$

$\int \sec^2(x) dx = \tan x + C$

$\int \sec^2(x) dx = \tan x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx$

$\int \frac{1}{\sqrt{1-x^2}} dx$

$u = \arcsin x$

$u^2 = \arcsin^2 x$

$2u \cdot du = \frac{1}{\sqrt{1-x^2}} dx$

$du = \frac{1}{2\sqrt{1-x^2}} dx$

$dx = 2\sqrt{1-x^2} du$

$\int \frac{1}{\sqrt{1-x^2}} dx = \int \frac{1}{\sqrt{1-u^2}} \cdot 2\sqrt{1-u^2} du$

$\int \frac{1}{\sqrt{1-x^2}} dx = \int 2 du = 2u + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = 2 \arcsin x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$

$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$

$$= \frac{2}{3} \sqrt{\frac{y^3}{3}} + C$$

$$= \frac{2\sqrt{3}}{3} y + C$$

$$= \frac{2(\sqrt{3} - \sqrt{3})^{3/2}}{3} + C$$

$$5) \int \frac{2x}{\sqrt{1-2x^2}} dx$$

$$u = 1-2x^2$$

$$u' = -4x$$

$$1-2x^2 = u$$

$$1+2x^2 = -u$$

$$1+2x^2 = -u$$

$$1+2x^2 = -u$$

$$1+2x^2 = -u$$

$$1+2x^2 = -u$$

$$= \frac{1}{2} \int \frac{2x}{\sqrt{1-2x^2}} dx$$

$$= \frac{1}{2} \int \frac{-1}{\sqrt{u}} du$$

$$= \frac{1}{2} \int u^{-1/2} du$$

$$= \frac{1}{2} \cdot 2 \sqrt{u} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$

$$= \sqrt{1-2x^2} + C$$